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R RPN R =Ny
A HAHAE =4
el HeHAE & N3 HELs

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
s5& =20 sl X3 7,100 7,100
307 glz2tol & 7,100 7,100
02 It M AHE X 7,100 7,100
OS&Fd 230 ESXHEH Al K&
7,100,000& 7,100
(VNS PARELFSER= "= 1=/ Fal 58,405 216,485 A 158,080
= 10,260
Al 48,145
S8 UK 222 58,405 216,485 A 158,080
= 10,260
Al 48,145
SHQ ol Xl 2el 21,580 21,440 140
201 Let4d] 20,000 20,000 0
01 At 22/l 2,400 2,400 0
ONUHXEA=EZENH 2,400,000& 2,400
02 =224l 17,600 17,600 0
OHIGAEALL2(HANSGHE)
8,500,000& x23| 17,000
OSSR EIHS A2 IHFHI 600,000& 600
202 44l 1,580 1,440 140
01 = LH o4 1l 1,580 1,440 140
OXA & X 2el oyl 1,580,000& 1,580
JelE 1008ts 22 A 24,000 40, A 16,000
402 2I2H X201 M 24,000 40, A 16,000
01 22t ALHEE X 24,000 40, A 16,000
OF& MM XIEEEXXA
1,600,000& * 150t + 24,000
NRIZE JtAAE HA XRAS 12,825 12, 780
= 10,260
Al 2,565
403 X EHHSH20lA 12,825 12, 780
= 10,260
Al 2,565
02 S| 2SO0l CHSHCH & A B 12,825 12, 780
O NMBIE JtAAE HH X2AY
12,825,000 12,825
= 10,260
Al 2,565
IS s XX 774,598 475, 299,062
Xl 6,000
< 36,000
Al 732,598
Aot 2e (SESHRNEE3AH) 52,752 33, 19,552




2N

X{ XH -
S =

PRS- DS
=X

chel: Agadex e (2LHNSE3A) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A BHAACHR] 2tel 50,000 33,200 16,800
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01 A& HI 50,000 30,000 20,000
O erarA Xl 2t el 50,000,000 50,000
OiHE(SEHXSY) 2,752 0 2,752
801 GBIl 2,752 0 2,752
01 Etoiigl bl 2,752 0 2,752
Ouuldl bl 2,752,000& 2,752
g3y Adst 270,310 225,800 44,510
< 36,000
Al 234,310
SaIg2EXE 180,310 175,800 4,510
202 (44l 5,610 5,100 510
01 = LH o4 1l 5,610 5,100 510
OsAJ|1g N2 ol 1,580,000& 1,580
O&g L XNJFLR ol 2,380,000 2,380
OM&EdEH XNHS ¢l 1,650,000& 1,650
306 ¢ 2 174,700 170,700 4,000
01 &3 174,700 170,700 4,000
OSAINGXNAIZ 8A(FIME)
100,000, 000& 100,000
OJIe<HAMY EH(EIE) 1,700, 000& 1,700
OGIHZel SHAH XNIMY &=
50,000,000 50,000
OsAJIg 847132 £A(&II%)
19,000, 000& 19,000
OsAIY BERII= 4383 NIAMY 5H(Z3
JITHEITP) 4,000,000& 4,000
A28 J|gEd He 90,000 50,000 40,000
< 36,000
Al 54,000
402 BI2FX=01 M 90,000 50,000 40,000
= 36,000
Al 54,000
01 It 2 AL E X 90,000 50,000 40,000
O 4n2 J1ged e 90,000,000 90,000
< 36,000
Al 54,000
g3 =5 27,000 27,000 0
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S0 SEXA 15,000 15,000 0




R RPN R =Ny
g JIgRIXNE

Sl JlYFMeY 2E CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 15,000 15,000 0
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OSSFEA J1ge o3 gsX
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OHAE X2 (SHEASEININSXH) 12,000 12,000 0
X 6,000
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402 RI2HX=01 M 12,000 12,000 0
X 6,000
Al 6,000
01 It 2 AL E X 12,000 12,000 0
O3UEAIS oI K& 12,000,000 12,000
Xl 6,000
Al 6,000
MOIHAAELSR HAE RIS 304,000 34,000 270,000
MOIAAELSR] 22| 304,000 34,000 270,000
201 Lt 34,500 34,000 500
01 At 22l 500 0 500
OMOIHAELR SIEE ==& 500,000 500
02 =224l 34,000 34,000 0
OMOIAAELSR] 22l 2,500,000& x12& 30,000
OMOIAAELR A== 4,000,000& 4,000
405 TtHabH S| 269,500 0 269,500
01 AL EFH S 269,500 0 269,500
OMOIAAES O HI 269,500,000& 269,500
SEEHEdH 2K 120,536 155,536 /35,000
orEydus 249 78,536 78,536 0
201 Let249] 78,536 78,536 0
01 At 22/l 76,536 76,536 0
O LAZE
33,0003 *3Al 2H+2H 4L 4=+ 122 38,016
Ox=&2AZE 80,000 *BA| 2t 1 2=+ 12& 11,520
Oousg MM & 257¢ 27,000,000 27,000
02 =24l 2,000 2,000 0
OA& &8l |Xdl 2,000,000 2,000
SEEHEMEH 22| 42,000 77,000 A 35,000
201 ¢er24l 22,000 57,000 /35,000
01 At 22l 10,000 13,000 A 3,000
OFEY HEWH S22 10,000, 000& 10,000
02 2324l 12,000 44,000 A 32,000
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OFCtd HEHE 22yl 1,000,000& x12& 12,000
401 Al HIL 200 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OMIBA AXIS A 20,000,000& 20,000
HHSHHH(XNGZ M) 43,300 47,320 AN4,020
Jl2dd (KNS A 43,300 47,320 AN 4,020
Jl2AdH (KIS E M) 43,300 47,320 A 4,020
201 LEt2 A Y| 11,500 10,470 1,030
01 At 22l Yl 11,500 10,470 1,030
OBMNA2Y AIR22HI(ZE) 11,500,000& 11,500
202 (4] 28,800 32,640 N 3,840
01 2LHOHI 28,800 32,640 A 3,840
OJlegssiudl (15Y) 28,800,000 28,800
203 R =&lY| 3,000 3,360 A 360
04 ENSIHRF=AY| 3,000 3,360 A 360
OBNSYILE=XHI(15210]0l)
250,000& x12& 3,000
dEAFHIY X3 9,407,670 8,887,000 520,670
UEAFTHI A NE AL (EHAFTHXN G AL EY 9,407,670 8,887,000 520,670
519)
ol B(EEAFTHXAXAAILE LS H) 9,407,670 8,887,000 520,670
801 0l 5l bl 9,407,670 8,887,000 520,670
01 etalbl bl 9,407,670 8,887,000 520,670
[@):[1s1hs] 9,407,670,000& 9,407,670




